Bretherton Endowed CE Primary School Calculation Policy ( CPA)

Addition
Concept Concrete Pictorial Abstract
Combining 3+42=5
two parts to ‘
make a If a part is 3 and another
whole part is 2, the whole is 5.
Use cubes to add
two numbers
together as a @ @
group or in a bar.
Sentence stem
In one part there are 3 bears.
In another part there are 2 bears.
The whole is 5 bears.
Bridging 10 Use of a tens frame Use of a number line 7+4=11
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| split 7 into 1 and 6
9+1=10
10+6 =16
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| partition 4 to 3 and 1.
7+3=10
10+1=11




U

N o
Adding Use of a number line 314+10=324
10/100/1000
to a given .:: = | add 1 ten to 314.
number
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314+10=324
Adding near Use of a Number Line 2536+ 199 =
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2536 +200—-1=2735
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Subtraction

Concept Pictorial Abstract
To understand 5-1= 5-1=4
takeaway B
To understand 5 -2 The difference between 8 and 3
difference _ O O O O is5
o0—
3
To be able to 13-7 =6 13-7
bridge 10 a
(7 = Y YYYY YY) | partition 7 into 3 and 4.
1 3 6 6 T T é T I T ! 13-3=10
10-4=6
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Subtracti 627 -10=617
MulIJtipzz(s: or;glo ... 10 = ..
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304 314
A 57-19 = 230 - 99 =
2, - 230 - 100 = 130
3738 > 130 + 1 = 131




Multiplication

Sentence Stem
3 groups of 4 counters

Concept Concrete Pictorial Abstract
To double a Use practical activities to show how to
double a number.
number. 2x26=
‘,/ 26+ 26 =52
| 2|0 . 6| |
40 | +| 12 | =
double 4is 8
dxl=8
To countin = -
equal steps. = % ?‘
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4+4+4
3x4

To understand 2x4=4x2
commutativity 2 groups of 4 = 4 groups of 2 4x2=2x4
To understand 7 x6 can be shownas5x6+2x6 7x6=5x6+2x6
distributive ...... 6 =42
Law
elelalelors)
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5x6 =230
2x6=12
30+12 =42
" b by kT o 28x10= 260

10/100/1000 2 8
2 ~ 8 - 0
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To develop . m 3 4 rows ‘ l 3 X - '
teueofs | | 19383288888288 o0 | | ¥ 10 3
multiplying. ::za:::::::: of 3 "l |10 , 3 4 (4 x 10) (4 x3)
b Wil 40 12
S lo . '0 4 #o
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| S2 40 +12 =52
To multiply by Long multiplication
a single digit
number. 1 3
X 4
12 @ax3)
4 0 ax10)
52
Short Multiplication




A

< 7
Gl

e 3

14
X 3
42




S f
\

by 10.

8. 4_ 2
\8\4\.‘2

P S
Division
Concept Pictorial Abstract
To .. ..
understan 8 divided by 2 9 divided by 2 8 shared equally into 2 groups is 4 in each
d divisi‘on % W B & ® W R 9 group
as sharing ' ' ' .... ‘ ....
oty <N 9/2 =4 r1
=4r
1 9.9.9.4 1<2
To 8 divided by 2 5
understan 8 -— 2 - 8 part into groups of 2 is 4 groups
d division i
as. ~
grouping 89 .
4 groge of 2
h A
To divide
2 number [ Th H| T 0 dp | ¥w ) 600+ 10 =60




To
understan @ - = 42 +3=42
d Because
distributiv 30+3=10
e law @ @ 12+3=4
30+-3=10
12+3=4
42 +3 =14
To
understan .
d short ' 2 7
division to : .
divide by 2 Z S i ]
asingle : : Lf- 4 8 4
digit :
number.

Sentence Stem
There are 2 groups of 4 tens.
There is 1 group of 4 ones
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